Raices Cuadradas (D)

Nombre:

Vi121=__

v 4900 =

v 6400 =

v 3600 =

V2500 =

Fecha:

Calcule la raiz cuadrada de cada nimero.

Jioo = Vigo =
Ve NCT
VBl= NG
Vi= V/B100 =
Vib= N
Vi= VT
/1600 = Vo
VEi— V%=
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Raices Cuadradas (D) Respuestas

Nombre: Fecha:
Calcule la raiz cuadrada de cada nimero.

121 = 11 V100 = 10 169 = 13
V4900 = 70 225 = 15 900 = 30
V9=_3 Vel=_9 625 = _25

400 = 20 Va= 2 v/8100 = 90
V36=_6_ V16 = _4 V25=_5_
V6400 = 80 Vi= 1 144 = 12
V3600 = 60 V1600 = 40 V49 = 7
V2500 = 50 V64 =_8 V196 = _14

Puntuacion:

/24

MatesLibres.com

|




